Name: Date:

Teacher: Class:

Multiplication 305

Did you hear about the Shetland Pony who was asked to
leave the animal choir? He was a little horse!

Multiply these numbers. LOTS OF
Example: 3LOTSOF4=12 3x4=12

L 4x4= 18 5x4= ¥ 10%x4 =
2 Tx4= 19 3x4= % 10%x4 =
3. 2x4= 20. §x 4= 37 4 x4 =
4 9 x4 = 2. g x 4 = 38. 2x4 =
> bHx4= 22. 3x4= 3% 9x4=
6. 10x 4 = 23. §x 4= 4. A x 4 =
7. 7 x4-= 4. 6 x 4= 4l 10x4 =
8 B5x4= 25 1x4= 42. A x 4=
9 B x4 = 26. 10 x 4 = 3. 8x4-=
10. 8x4= 27. 2 x 4 = 4. 10 x 4 =
1. 10 x 4 = 28. 4 x4 = 45. 5 x 4 =
2. 10 x 4 = 29. 3 x4 = 46. 3 x 4 =
13. 1x4= 30. 7x4= 47. 6 x 4 =
14 10 x4 = 3. 2 x4 = BT x4=
15. 7 x4 = 2. §x4= 49. 7 x 4 =
16. 1 x4 = 383. 2x4= 0. x4 =
17 gx 4 = 4. 2 x4 =
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1 4x4=16
2 7 x4=28
3 2x4=28

4 9x4=36
> 5x4=20
6. 10x4 =40
7 x4=28
8 5x4=20
% 6x4=24
10. 8x4=32
1.10x4 =40
1210 x4 = 40
3. 1x4=4

4. 10x4 =40
15 7 x4=28
6. 1x4=4

179 x4 =36
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Answer Key Date:

Teacher: Class:

Multiplication 305

Did you hear about the Shetland Pony who was asked to
leave the animal choir? He was a little horse!

Multiply these numbers. LOTS OF
Example: 3LOTSOF4=12 3x4=12

5x4 =20 3% 10x4 =40
3x4=12 3. 10 x4 =40
ox4=20 3. 4x4=16
9x4=36 38 2x4=8

3x4=12 3% 9x4=236
6x4=24 0. 4x4=16
6 x4 =24 4l 10 x4 = 40
1x4=4 2. 4x4=16
10 x 4 = 40 43 8x4=32
2x4=28 4. 10 x4 =40
4x4=16 o 5x4=20
3x4=12 4. 3 x4=12
7x4=28 A4l 6x4 =24
2x4=28 48. 7 x4 =28
ox4=20 49 7 x4=28
2x4=238 0. 9 x4 =36
2x4=28
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